Research Article **Approximation by** *q***-Bernstein Polynomials in the Case** $q \rightarrow 1+$

Xuezhi Wu

Library, Capital Normal University, Beijing 100048, China

Correspondence should be addressed to Xuezhi Wu; 18701112488@163.com

Received 24 December 2013; Accepted 8 February 2014; Published 12 March 2014

Academic Editor: Sofiya Ostrovska

Copyright © 2014 Xuezhi Wu. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Let $B_{n,q}(f; x), q \in (0, \infty)$ be the *q*-Bernstein polynomials of a function $f \in C[0, 1]$. It has been known that, in general, the sequence $(B_{n,q_n}(f))$ with $q_n \to 1+$ is not an approximating sequence for $f \in C[0, 1]$, in contrast to the standard case $q_n \to 1-$. In this paper, we give the sufficient and necessary condition under which the sequence $(B_{n,q_n}(f))$ approximates f for any $f \in C[0, 1]$ in the case $q_n > 1$. Based on this condition, we get that if $1 < q_n < 1 + \ln 2/n$ for sufficiently large n, then $(B_{n,q_n}(f))$ approximates f for any $f \in C[0, 1]$. On the other hand, if $(B_{n,q_n}(f))$ can approximate f for any $f \in C[0, 1]$ in the case $q_n > 1$, then the sequence (q_n) satisfies $\overline{\lim_{n\to\infty} n(q_n - 1)} \le \ln 2$.

1. Introduction

Let q > 0. For any nonnegative integer k, the q-integer $[k]_q$ is defined by

$$[k]_q := 1 + q + \dots + q^{k-1}, \quad (k = 1, 2, \dots), \quad [0]_q := 0,$$
(1)

and the *q*-factorial $[k]_a!$ by

$$[k]_q! := [1]_q[2]_q \cdots [k]_q, \quad (k = 1, 2, ...), \quad [0]_q! := 1.$$
(2)

For integers k, n with $0 \le k \le n$, the *q*-binomial coefficient is defined by

$$\begin{bmatrix} n \\ k \end{bmatrix}_{q} \coloneqq \frac{[n]_{q}!}{[k]_{q}![n-k]_{q}!}.$$
 (3)

In [1], Phillips proposed the *q*-Bernstein polynomials: for each positive integer *n* and $f \in C[0, 1]$, the *q*-Bernstein polynomial of *f* is

$$B_{n,q}(f;x) := \sum_{k=0}^{n} f\left(\frac{[k]_q}{[n]_q}\right) p_{nk}(q;x), \qquad (4)$$

where

$$p_{nk}(q;x) = {n \brack k}_{q} x^{k} \prod_{s=0}^{n-k-1} (1-q^{s}x).$$
 (5)

Note that, for q = 1, $B_{n,q}(f; x)$ is the classical Bernstein polynomial $B_n(f; x)$:

$$B_n(f;x) := \sum_{k=0}^n f\left(\frac{k}{n}\right) \binom{n}{k} x^k (1-x)^{n-k}.$$
 (6)

In recent years, the *q*-Bernstein polynomials have been investigated intensively and a great number of interesting results related to the *q*-Bernstein polynomials have been obtained. Reviews of the results on *q*-Bernstein polynomials are given in [2, Chapter 7] and [3, 4].

The *q*-Bernstein polynomials inherit some of the properties of the classical Bernstein polynomials, for example, the *end-point interpolation* property and the *shape-preserving* properties in the case 0 < q < 1, representation via divided differences. We can also define the generalized Bézier curve and de Casteljau algorithm, which can be used for evaluating *q*-Bernstein polynomials iteratively. These properties stipulate the importance of *q*-Bernstein polynomials for the computer-aided geometric design. Like the classical Bernstein polynomials, the *q*-Bernstein polynomials reproduce linear functions and are degree reducing on the set of polynomials. Apart from that, the basic *q*-Bernstein polynomials the stochastic process and the *q*-binomial distribution in the case 0 < q < 1; see [5].

On the other hand, when passing from q = 1 to $q \neq 1$ convergence properties of the q-Bernstein polynomials dramatically change. More specially, in the case 0 < q < 1, $B_{n,q}$ are positive linear operators on C[0,1], and the convergence properties of the *q*-Bernstein polynomials have been investigated intensively (see, e.g., [6-11]). In the case q > 1, $B_{n,q}$ are not positive linear operators on C[0, 1], and the lack of positivity makes the investigation of convergence in the case q > 1 essentially more difficult. There are many unexpected results concerning convergence of q-Bernstein polynomials in the case q > 1 (see [2, 12–17]). For example, the rate of approximation by *q*-Bernstein polynomials (q > 1)in C[0, 1] for functions analytic in $\{z : |z| < q + \varepsilon\}$ is q^{-n} versus 1/n for the classical Bernstein polynomials, while, for some infinitely differentiable functions on [0, 1], their sequences of *q*-Bernstein polynomials (q > 1) may be divergent (see [12]). In [2, 15], strong asymptotic estimates for the norm $||B_{n,a}||$ as $n \to \infty$ for fixed q > 1 and as $q \to \infty$ are obtained. It was shown in [2] that $||B_{n,q}|| \rightarrow +\infty$ faster than any geometric progression $n \to \infty$ for fixed q > 1. This fact provides an explanation for the unpredictable behavior of *q*-Bernstein polynomials (q > 1) with respect to convergence.

This paper is devoted to studying approximation properties of *q*-Bernstein polynomials for *q* taking *varying* values that tend to 1. We note that, from the very first papers (see [1]), there was interest in such approximation properties. In the case $0 < q_n < 1$, many interesting results including the convergence, the rate of convergence, Voronvskaya-type theorems, and the direct and converse theorem are obtained (see [1, 6, 8–11]). It was shown in [1, 8] that, in the case $q_n \leq 1$, the condition $q_n \rightarrow 1$ is necessary and sufficient for the sequence $(B_{n,q_n}(f))$ to be approximating for any $f \in C[0, 1]$.

Naturally, the question arises as to whether the sequence $(B_{n,q_n}(f))$ to be approximating for any $f \in C[0, 1]$ as q_n tends to 1 from above. It turns out that, in general, the answer is negative. Indeed, Ostrovska showed in [13] that if $q_n - 1 \downarrow 0$ slower than $(\ln n)/n$, then the sequence $(B_{n,q_n}(f))$ may not be approximating for some $f \in C[0, 1]$ (e.g., $f(x) = \sqrt{x}$). However, in [14] Ostrovska showed that if $q_n \rightarrow 1^+$ fast enough, the sequence $(B_{n,q_n}(f))$ is approximating for any $f \in C[0, 1]$: a sufficient condition is $q_n = 1 + o(n^{-1}3^{-n})$.

In this paper, we continue to study the convergence of the sequence (B_{n,q_n}) as q_n tends to 1 from above. Clearly, the convergence of the sequence (B_{n,q_n}) depends heavily on the operator norms $||B_{n,q_n}||$. We remark that for $||B_{n,q_n}|| = 1$ for all $0 < q_n < 1$. In contrast to this, $||B_{n,q_n}||$ vary with $q_n > 1$. By the delicate analysis of $||B_{n,q_n}||$, we obtain the sufficient and necessary condition under which $(B_{n,q_n}(f; \cdot))$ $(q_n > 1)$ approximates f for any $f \in C[0, 1]$. Based on this condition we get that if $(B_{n,q_n}(f; \cdot))$ can approximate f for any $f \in C[0, 1]$, then the sequence (q_n) satisfies $\overline{\lim}_{n\to\infty} n(q_n - 1) \leq \ln 2$. On the other hand, if $1 < q_n \leq 1 + \ln 2/n$ for sufficient large n, then $(B_{n,q_n}(f; \cdot))$ approximates f for any $f \in C[0, 1]$.

2. Statement of Results

From here on we assume that $q_n > 1$. The following theorem gives the sufficient and necessary condition for convergence of the sequence $(B_{n,q_n}(f))$ for any $f \in C[0, 1]$.

Theorem 1. Let $q_n > 1$. Then the sequence $(B_{n,q_n}(f))$ converges to f in C[0, 1] for any $f \in C[0, 1]$ if and only if

$$\sup_{n \in \mathbb{N}} \sup_{x \in [q_n^{-1}, 1]_{k=2}}^n \left| p_{n \ n-k} \left(q_n; x \right) \right| < \infty.$$
(7)

Based on Theorem 1, we obtain the following necessary condition for convergence of the sequence $(B_{n,q_n}(f))$. Indeed, we show that if $\overline{\lim_{n\to\infty}} n(q_n - 1) > \ln 2$, then $\sup_{n\in\mathbb{N}} |p_{n\,n-[\ln n]}(q_n; x_0)| = \infty$ with $x_0 = (1 + q_n)/2q_n$.

Theorem 2. Let $q_n > 1$. If the sequence $(B_{n,q_n}(f))$ converges to f in C[0, 1], for any $f \in C[0, 1]$, then

$$\overline{\lim_{n \to \infty}} n \left(q_n - 1 \right) \le \ln 2. \tag{8}$$

Finally, we give the sufficient condition for convergence of the sequence $(B_{n,q_u}(f))$.

Theorem 3. Let $q_n > 1$. If the sequence (q_n) satisfies $q_n \le 1 + \ln 2/n$ for sufficiently large *n*, then, for any $f \in C[0, 1]$, $(B_{n,q_n}(f; x))$ converges to f(x) uniformly on [0, 1].

The following corollary follows immediately for Theorem 3.

Corollary 4. Let $q_n > 1$. If the sequence (q_n) satisfies

$$\overline{\lim_{n \to \infty} n \left(q_n - 1 \right)} < \ln 2, \tag{9}$$

then, for any $f \in C[0,1]$, $(B_{n,q_n}(f;x))$ converges to f(x) uniformly on [0,1].

Remark 5. Using the same technique as in the proof of Theorem 3, we can prove a slightly stronger conclusion: if

$$1 < q_n \le 1 + \frac{\ln 2}{n} + \frac{C}{n^2} \tag{10}$$

for some positive constant *C* and sufficiently large *n*, then, for any $f \in C[0, 1]$, $(B_{n,q_n}(f; x))$ converges to f(x) uniformly on [0, 1].

3. Proofs of Theorems 1–3

For $f \in C[0, 1]$, we set

$$\|f\| := \max_{x \in [0,1]} |f(x)|,$$

$$\|f\|_{s} := \|f\|_{C[q_{n}^{-s-1}, q_{n}^{-s}]} := \max_{x \in [q_{n}^{-s-1}, q_{n}^{-s}]} |f(x)|.$$
 (11)

Let $F_n(x) := \sum_{k=0}^n |p_{nk}(q_n; x)|, x \in [0, 1]$. Clearly,

$$\left\|B_{n,q_n}\right\| = \left\|F_n\right\| = \max_{x \in [0,1]} \left(\sum_{k=0}^n \left|p_{n \ n-k}\left(q_n; x\right)\right|\right).$$
(12)

Note that $\sum_{k=0}^{n} p_{nk}(q_n; x) = 1$ for $x \in [0, 1]$ and $p_{nk}(q_n; x) \ge 0$ for $x \in [0, q_n^{-n+1}]$ and $k = 0, 1, \dots, n$. This means that

$$F_{n}(x) = 1, \quad x \in [0, q_{n}^{-n+1}],$$

$$F_{n}(x) \ge 1, \quad x \in [q_{n}^{-n+1}, 1].$$
(13)

It follows that

$$||B_{n,q_n}|| = ||F_n|| = \max_{0 \le s \le n-2} ||F_n||_s.$$
 (14)

Proof of Theorem 1. From Corollary 7 in [12] we know that, for any polynomial P(x), we have

$$B_{n,q_n}(P;x) \longrightarrow P(x) \tag{15}$$

uniformly in [0, 1] as $n \to \infty$. It follows from the wellknown Banach-Steinhaus theorem that $(B_{n,q_n}(f))$ $(q_n > 1)$ approximates f for any $f \in C[0, 1]$ if and only if

$$\sup_{n\in\mathbb{N}} \left\| B_{n,q_n} \right\| = \sup_{n\in\mathbb{N}} \sup_{x\in[0,1]} \left(\sum_{k=0}^n \left| p_{n\,n-k}\left(q_n;x\right) \right| \right) < +\infty.$$
(16)

We set

$$G_{s,n}(x) = \sum_{k=s+2}^{n} \left| p_{n \ n-k}(q_n; x) \right|, \quad s = 0, 1, \dots, n-2.$$
(17)

Since $p_{n n-k}(q_n; x) \ge 0$ for $x \in [q_n^{-s-1}, q_n^{-s}]$ and k = 0, 1, ..., s+1, we get, for $x \in [q_n^{-s-1}, q_n^{-s}]$,

$$\sum_{k=0}^{s+1} |p_{n \ n-k}(q_n; x)| = \sum_{k=0}^{s+1} p_{n \ n-k}(q_n; x)$$
$$= 1 - \sum_{k=s+2}^{n} p_{n \ n-k}(q_n; x) \le 1 + G_{s,n}(x),$$
(18)

and, therefore,

$$\|F_n\|_s \le \|1 + 2G_{s,n}\|_s = 1 + 2\|G_{s,n}\|_s, \quad s = 0, 1, \dots, n-2.$$
(19)

Next we will show that

$$\|G_{s,n}\|_{s} \le \|G_{s-1,n}\|_{s-1}, \quad s = 1, 2, \dots, n-2.$$
 (20)

Note that, for $x \in [q_n^{-s-1}, q_n^{-s}]$,

$$G_{s,n}(x) = \sum_{k=s+2}^{n} |p_{n \ n-k}(q_{n};x)|,$$

$$G_{s-1,n}(q_{n}x) = \sum_{k=s+1}^{n} |p_{n \ n-k}(q_{n};q_{n}x)|.$$
(21)

If we show that, for $x \in [q_n^{-s-1}, q_n^{-s}]$ and $k = s + 1, \dots, n - 1$,

$$|p_{n \ n-k-1}(q_n; x)| \le |p_{n \ n-k}(q_n; q_n x)|,$$
 (22)

then

$$G_{s,n}(x) \le G_{s-1,n}(q_n x), \quad x \in \left[q_n^{-s-1}, q_n^{-s}\right],$$
 (23)

and (20) follows. Indeed, for $x \in (q_n^{-s-1}, q_n^{-s})$ and $k = s + 1, \dots, n-1$,

$$\frac{p_{n\,n-k}\left(q_{n};q_{n}x\right)}{\left|p_{n\,n-k-1}\left(q_{n};x\right)\right|} = \frac{\left[\begin{smallmatrix}n\\k\end{smallmatrix}\right]_{q_{n}}\left(q_{n}x\right)^{n-k}\prod_{j=0}^{s-1}\left(1-q_{n}^{j+1}x\right)\prod_{j=s}^{k-1}\left(q_{n}^{j+1}x+1\right)}{\left[\begin{smallmatrix}n\\k+1\end{smallmatrix}\right]_{q_{n}}x^{n-k-1}\prod_{j=0}^{s}\left(1-q_{n}^{j}x\right)\prod_{j=s+1}^{k}\left(q_{n}^{j}x-1\right)} = \frac{\left[k+1\right]_{q_{n}}q_{n}^{n-k}x}{\left[n-k\right]_{q_{n}}\left(1-x\right)}.$$
(24)

Hence, (22) is equivalent to the following inequality:

$$\left(q_n^{k+1}-1\right)q_n^{n-k}x \ge \left(q_n^{n-k}-1\right)\left(1-x\right),$$
 (25)

which is also equivalent to the inequality

$$x \ge \frac{q_n^{n-k} - 1}{q_n^{n+1} - 1}.$$
(26)

For $x \in (q_n^{-s-1}, q_n^{-s})$ and k = s + 1, ..., n - 1, we have

$$x > q_n^{-s-1} \ge \frac{q_n^{-s-1}\left(q_n^n - q_n^{s+1}\right)}{q_n^{n+1} - 1} = \frac{q_n^{n-s-1} - 1}{q_n^{n+1} - 1} \ge \frac{q_n^{n-k} - 1}{q_n^{n+1} - 1}.$$
(27)

This proves (26). On the other hand, $p_{n n-k-1}(q_n; x) = 0 = p_{n n-k}(q_n; q_n x)$ for $x \in \{q_n^{-s-1}, q_n^{-s}\}$, which completes the proof of (20). From (14), (19), and (20), we get

$$\|G_{0,n}\|_{0} \leq \|F_{n}\| = \|B_{n,q_{n}}\| \leq 1 + 2\|G_{0,n}\|_{0}.$$
 (28)

This implies that (16) is equivalent to

$$\sup_{n \in \mathbb{N}} \left\| G_{0,n} \right\|_{0} = \sup_{n \in \mathbb{N}} \sup_{x \in [q_{n}^{-1}, 1]_{k=2}} \sum_{k=2}^{n} \left| p_{n \, n-k} \left(q_{n}; x \right) \right| < \infty.$$
(29)

Theorem 1 is proved.

Proof of Theorem 2. First we show that

$$q_n - 1 = O\left(\frac{1}{n}\right). \tag{30}$$

Otherwise, we may assume that

$$\lim_{n \to \infty} n(q_n - 1) = +\infty, \tag{31}$$

which implies

$$\lim_{n \to \infty} q_n^{n-1} = \lim_{n \to \infty} \exp\left((n-1)\ln q_n\right)$$
$$\geq \lim_{n \to \infty} \exp\left((n-1)\min\left\{\frac{(q_n-1)}{2},\ln 2\right\}\right)$$
$$= +\infty.$$
(32)

We have

$$\begin{aligned} \|G_{0,n}\|_{0} &\geq \|p_{n\,n-2}\left(q_{n};\cdot\right)\|_{0} \geq \left|p_{n\,n-2}\left(q_{n};\frac{q_{n}+1}{2q_{n}}\right)\right| \\ &= \frac{(q_{n}^{n}-1)\left(q_{n}^{n-1}-1\right)}{(q_{n}^{2}-1)\left(q_{n}-1\right)} \left(\frac{1+q_{n}}{2q_{n}}\right)^{n-2} \\ &\times \left(1-\frac{1+q_{n}}{2q_{n}}\right) \left(q_{n}\frac{1+q_{n}}{2q_{n}}-1\right) \\ &= \frac{\left(1-q_{n}^{-n+1}\right)\left(q_{n}^{n}-1\right)}{8} \left(\frac{1+q_{n}}{2}\right)^{n-3} \\ &\geq \frac{\left(1-q_{n}^{-n+1}\right)\left(q_{n}^{n}-1\right)}{8} \longrightarrow +\infty, \quad (\text{as } n \longrightarrow \infty). \end{aligned}$$

$$(33)$$

/

This leads to a contradiction by Theorem 1. Hence, (30) holds.

Next, we show Theorem 2. Assume that $\overline{\lim}_{n\to\infty} n(q_n - 1) > \ln 2$. Then by (30) we may suppose that, for some *A*, *B*, $\ln 2 < A < B < +\infty$,

$$1 + \frac{A}{n} \le q_n \le 1 + \frac{B}{n}.$$
(34)

1 \ 1

For 0 < a < b, we set $h(x) = (x^a - 1)/(x^b - 1)$, x > 1. Direct computation gives that

$$h'(x) = \frac{bx^{a-1} \left(x^{b-a} - \left((b-a)/b\right) x^b - a/b\right)}{\left(x^b - 1\right)^2}.$$
 (35)

Since the function $g(y) = x^y$ is convex on $(-\infty, +\infty)$ for a fixed x > 0, we get that

$$x^{b-a} = x^{((b-a)/b) \cdot b + (a/b) \cdot 0} \le \frac{b-a}{b} x^b + \frac{a}{b}.$$
 (36)

This means that $h'(x) \leq 0$ and h(x) is nonincreasing on $(1, +\infty)$. Hence, for $x \in (1, \xi_0), \xi_0 > 1$, we have

$$h(\xi_0) \le h(x) \le \lim_{x \to 1^+} h(x) = \frac{a}{b}.$$
 (37)

Put $x_0 = (1 + q_n)/2q_n \in (q_n^{-1}, 1)$. Then, for $k_0 = [\ln n]$, we have

$$\begin{split} \left\|G_{0,n}\right\|_{0} &\geq \left\|p_{n \ n-k_{0}}\left(q_{n};\cdot\right)\right\|_{0} \geq \left|p_{n \ n-k_{0}}\left(q_{n};x_{0}\right)\right| \\ &= \frac{\left(q_{n}^{n}-1\right)\cdots\left(q_{n}^{n-k_{0}+1}-1\right)}{\left(q_{n}^{k_{0}}-1\right)\cdots\left(q_{n}-1\right)}x_{0}^{n-k_{0}} \\ &\times\left(1-x_{0}\right)\prod_{s=1}^{k_{0}-1}\left(q_{n}^{s}x_{0}-1\right) \\ &\geq \left(q_{n}^{n-k_{0}}-1\right)^{k_{0}}x_{0}^{n-k_{0}}\left(1-x_{0}\right) \\ &\times\frac{\left(q_{n}^{k_{0}-1}x_{0}-1\right)\cdots\left(q_{n}x_{0}-1\right)}{\left(q_{n}^{k_{0}}-1\right)\cdots\left(q_{n}-1\right)}. \end{split}$$
(38)

Using (34), the inequalities

$$\frac{q_n^{s+1}x_0 - 1}{q_n^s - 1} \ge 1, \quad s = 1, \dots, k_0 - 2,$$

$$x_0^{n-k_0} \left(1 - x_0\right) \left(q_n x_0 - 1\right) \ge q_n^{-n+k_0 - 1} \frac{\left(q_n - 1\right)^2}{4}$$

$$\ge \left(1 + \frac{B}{n}\right)^{-n} \frac{\left(q_n - 1\right)^2}{4}$$

$$\ge \left(q_n - 1\right)^2 \frac{\exp\left(-B\right)}{4},$$
(39)

and the nonincreasing property of h(x), we continue to obtain that

$$\|G_{0,n}\|_{0}$$

$$\geq \left(\left(1 + \frac{A}{n}\right)^{n - \ln n} - 1 \right)^{k_0} \frac{\exp\left(-B\right)}{4} \frac{\left(q_n - 1\right)^2}{\left(q_n^{k_0} - 1\right) \left(q_n^{k_0 - 1} - 1\right)} \\ \geq \left(\left(1 + \frac{A}{n}\right)^{n - \ln n} - 1 \right)^{k_0} \\ \times \frac{\exp\left(-B\right)}{4} \frac{\left(A/n\right)^2}{\left(\left(1 + B/n\right)^{k_0} - 1\right) \left(\left(1 + B/n\right)^{k_0 - 1} - 1\right)}.$$

$$(40)$$

We observe that

$$\lim_{n \to \infty} \left(1 + \frac{A}{n} \right)^{n - \ln n}$$

= $\exp\left(\lim_{n \to \infty} (n - \ln n) \ln\left(1 + \frac{A}{n}\right)\right)$ (41)
= $\exp\left(\lim_{n \to \infty} \frac{A(n - \ln n)}{n}\right) = \exp(A) > 2,$

and, for $s = k_0, k_0 - 1$,

$$\lim_{n \to \infty} \frac{(1 + B/n)^s - 1}{B \ln n/n}$$

=
$$\lim_{n \to \infty} \frac{\exp(s \ln (1 + B/n)) - 1}{B \ln n/n} = \lim_{n \to \infty} \frac{s \ln (1 + B/n)}{B \ln n/n} = 1.$$
(42)

Thus, for some $a \in (1, e^A - 1)$ and sufficiently large *n*, we have

$$\|G_{0,n}\|_0 \ge \frac{a^{\ln n-1}}{(\ln n)^2} \frac{\exp(-B)A^2}{4B^2} \longrightarrow +\infty.$$
 (43)

By Theorem 1, we know that there exists a function $f \in C[0,1]$ such that the sequence $(B_{n,q_n}(f))$ does not converge to f in C[0,1]. This leads to a contradiction. Hence, $\overline{\lim_{n\to\infty} n(q_n-1)} \leq \ln 2$. Theorem 2 is proved.

Proof of Theorem 3. From Theorem 1, we know that it is sufficient to show that if $q_n \le 1 + \ln 2/n$ for sufficiently large *n*, then

$$\sup_{n\in\mathbb{N}} \left\| G_{0,n} \right\|_0 < \infty.$$
(44)

For $x \in (q_n^{-1}, 1)$, we set $\alpha = -\log_{q_n} x$. Then $\alpha \in (0, 1)$ and $x = q_n^{-\alpha}$. Since, for k = 2, ..., n - 1,

$$q_n^{\alpha} \left(q_n^{n-k} - 1 \right) \le q_n^{n-k+\alpha} - 1$$

$$\le q_n^n - 1 \le \left(1 + \frac{\ln 2}{n} \right)^n - 1 \le 1,$$
(45)

by (37) we get that

$$\frac{\left|p_{n\,n-k-1}\left(q_{n};x\right)\right|}{\left|p_{n\,n-k}\left(q_{n};x\right)\right|} = \frac{\left(q_{n}^{n-k}-1\right)\left(q_{n}^{k-\alpha}-1\right)}{\left(q_{n}^{k+1}-1\right)q_{n}^{-\alpha}}$$

$$\leq \frac{q_{n}^{k-\alpha}-1}{q_{n}^{k+1}-1} \leq \frac{k-\alpha}{k+1}.$$
(46)

On the other hand, by (37) we have

$$\begin{aligned} \left| p_{n \, n-2} \left(q_{n}; x \right) \right| &= \begin{bmatrix} n \\ 2 \end{bmatrix}_{q_{n}} x^{n-1} \left(\frac{1}{x} - 1 \right) \left(q_{n} x - 1 \right) \\ &\leq \frac{\left(q_{n}^{n} - 1 \right) \left(q_{n}^{n-1} - 1 \right)}{\left(q_{n}^{2} - 1 \right) \left(q_{n} - 1 \right)} \left(q_{n}^{\alpha} - 1 \right) \left(q_{n}^{1-\alpha} - 1 \right) \\ &\leq \frac{\left(q_{n}^{\alpha} - 1 \right) \left(q_{n}^{1-\alpha} - 1 \right)}{2 \left(q_{n} - 1 \right)^{2}} \leq \frac{\alpha \left(1 - \alpha \right)}{2}. \end{aligned}$$

$$(47)$$

It follows from (46) and (47) that

$$\left|p_{n\,n-k}\left(q_{n};x\right)\right| \leq \frac{\alpha\left(1-\alpha\right)\cdots\left(k-1-\alpha\right)}{k!}.$$
(48)

Hence, for $x = q_n^{-\alpha}$, $\alpha \in (0, 1)$,

$$G_{0,n}(x) = \sum_{k=2}^{n} \left| p_{n \ n-k} \left(q_{n}; x \right) \right| \le \sum_{k=2}^{\infty} \frac{\alpha \left(1 - \alpha \right) \cdots \left(k - 1 - \alpha \right)}{k!}.$$
(49)

Obviously (49) is satisfied for $x \in \{0, 1\}$. We note that, for $x \in [0, 1]$,

$$(1-x)^{\alpha} = 1 - \alpha x - \sum_{k=2}^{\infty} \frac{\alpha (1-\alpha) \cdots (k-1-\alpha)}{k!} x^{k}.$$
 (50)

The above formula with x = 1 means that

$$\sum_{k=2}^{\infty} \frac{\alpha \left(1-\alpha\right) \cdots \left(k-1-\alpha\right)}{k!} = 1-\alpha.$$
 (51)

Thus, by (49),

$$\left\|G_{0,n}\right\|_{0} \leq \sup_{\alpha \in [0,1]} \sum_{k=2}^{\infty} \frac{\alpha \left(1-\alpha\right) \cdots \left(k-1-\alpha\right)}{k!} = 1.$$
 (52)

This completes the proof of Theorem 3. \Box

Conflict of Interests

The author declares that there is no conflict of interests regarding the publication of this paper.

Acknowledgments

The author is very grateful to S. Ostrovska and the anonymous referees for their useful comments and suggestions that helped improve the presentation of the paper. The research is supported by the National Natural Science Foundation of China (Project no. 11271263) and the Beijing Natural Science Foundation (1132001).

References

- G. M. Phillips, "Bernstein polynomials based on the *q*-integers," Annals of Numerical Mathematics, vol. 4, pp. 511–518, 1997.
- [2] H. Wang and S. Ostrovska, "The norm estimates for the *q*-Bernstein operator in the case q > 1," *Mathematics of Computation*, vol. 79, no. 269, pp. 353–363, 2010.
- [3] G. M. Phillips, "A generalization of the Bernstein polynomials based on the q-integers," *The Australian & New Zealand Industrial and Applied Mathematics Journal*, vol. 42, no. 1, pp. 79–86, 2000.
- [4] G. M. Phillips, "A survey of results on the q-Bernstein polynomials," *IMA Journal of Numerical Analysis*, vol. 30, no. 1, pp. 277– 288, 2010.
- [5] A. Il'inskii, "A probabilistic approach to q-polynomial coefficients, Euler and Stirling numbers. I," *Matematicheskaya Fizika*, *Analiz, Geometriya*, vol. 11, no. 4, pp. 434–448, 2004.
- [6] Z. Finta, "Direct and converse results for *q*-Bernstein operators," *Proceedings of the Edinburgh Mathematical Society*, vol. 52, no. 2, pp. 339–349, 2009.
- [7] A. Il'inskii and S. Ostrovska, "Convergence of generalized Bernstein polynomials," *Journal of Approximation Theory*, vol. 116, no. 1, pp. 100–112, 2002.
- [8] V. S. Videnskii, "On some classes of *q*-parametric positive linear operators," in *Selected Topics in Complex Analysis*, vol. 158 of *Operator Theory: Advances and Applications*, pp. 213–222, Birkhäuser, Basel, Switzerland, 2005.
- [9] H. Wang, "Korovkin-type theorem and application," *Journal of Approximation Theory*, vol. 132, no. 2, pp. 258–264, 2005.
- [10] H. Wang, "Voronovskaya-type formulas and saturation of convergence for *q*-Bernstein polynomials for 0 < *q* < 1," *Journal of Approximation Theory*, vol. 145, no. 2, pp. 182–195, 2007.
- [11] H. Wang and F. Meng, "The rate of convergence of *q*-Bernstein polynomials for 0 < *q* < 1," *Journal of Approximation Theory*, vol. 136, no. 2, pp. 151–158, 2005.
- [12] S. Ostrovska, "q-Bernstein polynomials and their iterates," *Journal of Approximation Theory*, vol. 123, no. 2, pp. 232–255, 2003.
- [13] S. Ostrovska, "The approximation by *q*-Bernstein polynomials in the case $q \downarrow 1$," *Archiv der Mathematik*, vol. 86, no. 3, pp. 282–288, 2006.
- [14] S. Ostrovska, "The approximation of all continuous functions on [0; 1] by *q*-Bernstein polynomials in the case $q \rightarrow 1^+$," *Results in Mathematics*, vol. 52, no. 1-2, pp. 179–186, 2008.
- [15] S. Ostrovska and A. Y. Özban, "The norm estimates of the q-Bernstein operators for varying q > 1," *Computers & Mathematics with Applications*, vol. 62, no. 12, pp. 4758–4771, 2011.

- [16] H. Wang and X. Wu, "Saturation of convergence for *q*-Bernstein polynomials in the case $q \ge 1$," *Journal of Mathematical Analysis and Applications*, vol. 337, no. 1, pp. 744–750, 2008.
- [17] Z. Wu, "The saturation of convergence on the interval [0; 1] for the *q*-Bernstein polynomials in the case q > 1," *Journal of Mathematical Analysis and Applications*, vol. 357, no. 1, pp. 137–141, 2009.